TE foheq & g (v') i ¥IRT /Mark (V) against the correct option

9.1

9.2

9.3

9.4

9.5

9.6

Eﬂﬁﬁ A9/ Model Question Paper
4SYT JAG-T9 / Vedabhushan Third Year

The multiplicative inverse of 2% will be.
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The sum of the four angles of a quadrilateral is -
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10x2=20

IO & |/ Multiply 341 x 11 by Vilokanam method.
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Such quadrilateral whose four sides are equal is called .............
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A rational number that is equal to its negative value.
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If the unit digit of a number is zero, then the unit digit of its cube is.
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9.10 9fe AR 100 &1, a9 98 FI [IGS &R -

1

If the base is 100, then the deviation of 98 will be -

) -1 (& +2
® -2 @ -5
s Tl 1 9fdd AR / Fill in the blanks. 5x2=10
911 GEHAGS H (R TEHR ... EdE | (GUE / IEE)
The diagonals of a rhombus are mutually .................. (equal / unequal)
912 FHR TG F GEHE B8 | (THE [/ STEEE )
The opposite sides of a parallelogram are ............. (equal / unequal)
9.13 PRl a6 & @ TR G Fl.o....c. FEdE | (FATA / faha gem)
The purchase price of a commodity is called ....... (cost price / selling price)
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914 RE aeTcH aRET G H Gl W o, EdIE | (SFICHE / RUTICHS )
The reciprocal of any positive rational number is also ...........ccceeevnnies
(positive/negative)
9,15 Tk QET TS [STEh] ST Yo S ... FESA 2 |
(TS /TR )

A quadrilateral whose adjacent sides are equal is called .............

(Rhombus / Parallelogram)

HE SISl fs™ FRTQ / Match the correct pair. 5x2=10
916 THN T F SETHS (F) AR x F=E
Area of parallelogram Base x Height
Y17 SEd F SRS (@) SR x HeR
Area of rectangle Length x Breadth
918 a"xa" M 4
919 16 =@ 1
920 W B UHd GEATR | () a™*"

The smallest natural number is.
9 1 3Hd ddisq, / State true or false. 5x1=5

NN N

921 & GHEgH, S Eld & | /All thombus are rectangle.
922 &, EEEdE | /All squares are rectangle.
923 (3)°=72
9.24 Il GRET AT 3 F ANTCHS Hfdo™ (- 3) 8, A3 -3 =0
If the additive inverse of the rational number 3 is (- 3), then3-3=0
Y.25 345 F THIGHA 346 8 | /The Ekadhiken of 345 is 346.
T Fieg H IR {5RET | Wrrite the answer in one word. 5x1=5
926 &S AR/ simplify: 6 - 1°
927 14 F TG FIG / Find the square of 14.

3 a4/ Year - 2022-23




9.28 3 x 7" &1 A Fd #< | Find the value of 3 x 7°.
9.29 134 H 3 FT THITERA JH01 & 71 T AT ST BNl 2 |

The new number formed from Ekadhiken Purvena of 3 in 134 is.

.30 6 1 GHHE %SRI9 | / Write the Parammitra number of 6.

HSYITIA 9=+ very short answer question
9.31 e %1 IUERS T F | (THIIRA )
Find the product of the following. (Ekadhiken Purvena)
98 104
x92 x106

5x2=10

932 [ & qicg Ufda™ fRaT / Write the additive inverse of the following.

2 -5
3) 5 ) ry

933 THFOI12 +4=5x+7 RESHL/ Solve the equation 12 + 4 = 5x + 7.

934 e w1l d S | / Find the square of the following.
aF  (32) a9 (11)

9.35 Al G SR IUHES F1d Y |
Find the product by using Urdhvatiryagbhyaam formula.
dq) 11 ) 18
x15 x 34

FYSAUT F2+/ Short answer type questions -

5x4=20

U.36 T Ak 1 S da9 10, 000 T B afE IGF da H 10% Jrg Bt & o STHT 741 I

FRael &NT STd &I |/ The basic salary of a man is Rs.10,000. If his salary is

increased by 10% then what will be his new salary.
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9.37 xﬂqﬁaﬁﬁﬁl‘l: Find the valueof x: 3 (x+4)=3

9.38 TS HINT /Simplify - = x
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9.39 T GHR TR F MER 7 Q.. 9 F=E 10 Q.. 2, O TR T F 89S F1d
FIT /The base of a parallelogram is 7 cm. and height is 10 cm., then find
the area of the parallelogram.

9.40 {RE S F 3 TN H 4 SiieA W 64 TIed &ldT 8, dl 98 &1 Jd il |
If 4 is added to 3 times of a number, then 64 is obtained. Find the vaue of

that number.

QoS = / Long answer type questions 10x2=20

Y41 IO % W H 5 1000 I & R 30% 99 SEIEH a9 3 FAdN 991 & | adigd 0
& ©d H fha FAQR I g1 / There are 1000 trees in Ganesh's field in which
30% trees are shady and rest are fruit trees, then how many fruit trees are
there in Ganesh's field.

942 AR T ATEA 5 S U2ie | 15 .. F 70 09 A & a1 20 S i | are feae
. H1. TN / If the vehicle covers 15 km in 5 liters of petrol. How many

kms. does the vehicle will cover in 20 liters of petrol?
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